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Quantifiers

abbreviations
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Vvinull b = T
Vvixb = (vix b)x
Vv:AB- b = (Vv:A - b) A (Vv: B- b)

2vinulln = 0

Svixn = (vixn)x

dvinull b = L
v:xb = (vix b)x
dv:AB- b = (Av: A-b) v (Av: B- b)

CEviAB n)+Ev:A‘B-n) = (Zv:A-n)+ (2Zv: B n)

[Iv: null-n = 1

[Mv:xn = (vix n)x

(ITv: A,B- n) x (IIv: A°B- n) = (I1v: A- n) x (I1lv: B n)

tv:null b = —©
tvixb = (vix b)x
tv:AB b = (fviA b)) (ffv:B b)

yv:null b = oo
Ivixb = (vix b)x
viAB b = (Jv:A b) | (Jv:B b)
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Solution Quantifier
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An expression talks about its nonlocal variables.

dn: nat x = 2xn
says

“x 1s an even natural”
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